City Clerk

Bid Committee Bid Tab

Bid OCWUT WC-0619 Ended At Mar 8, 2023 10:00:00 AM CST CONSTRUCTION/OCWUT - Waterline Replacement

Company:	Cimarron Construction Company, LLC	Southwest Water Works L.L.C.	
Base Bid	\$2,114,411.00	\$2,237,695.00	
TOTAL BID:	\$2,114,411.00	\$2,237,695.00	

Tresha Williams	Angee Wagner	Tim Alvarez
City Clerk	Procurement	Auditor

Potential Bid Defects Noted:

- #1 Anti-collusion affidavit not properly notarized
- #2 Bid Bond missing
- #3 Bid Bond incorrect awarding agency
- #4 Bid Bond insufficient amount
- #5 Business relationship affidavit not properly notarized

THE BID COMMITTEE DOES NOT REJECT OR ACCEPT BIDS. The noting or failing to note on the bid tabulation any defect by the Bid Committee is not conclusive of the validity, regularity, completeness or legality of any bid. Questions regarding bid defects or irregularities should be directed to the Municipal Counselor's Office at (405) 297-2451.

Originating Department shall:

- 1. Carefully examine and evaluate all opened bids, including a review of potential defects noted by the Bid Committee;
- 2. Contact your legal representative prior to recommending contract award based on a bid with any potential or perceived irregularity or defect; and
- 3. Prepare a memorandum to Council or its Trusts with recommendations regarding contract award, listing all bids opened and noting any defects; and
- 4. Attach a copy of the Bid Committee's bid tabulation with the SIRE item recommending contract award as a non-published document for review by staff.

Bid #OCWUT WC-0619 - Waterline Replacement

Start Date Feb 15, 2023 7:53:24 AM CST Awarded Date Not Yet Awarded

OCWUT WC-061901-01 Base Bid: BORE AND STEEL CASING (FOR 8-INCH CARRIER PIPE)								
Supplier		Unit Price	Qty/Unit	Total Price	Attch.	Docs		
Southwest Water Works L.L.C.		First Offer - \$275.00	160 / linear foot	\$44,000.00	Y	Υ		
Product Code: WC-0619			Supplier Product Code:					
Agency Notes:			Supplier Notes:					
Cimarron Construction Company, LLC		First Offer - \$361.00	160 / linear foot	\$57,760.00	Y	Υ		
Product Code: WC-0619			Supplier Product Code	e:				
Agency Notes:			Supplier Notes:					

OCWUT WC-061901-02 Base Bid: BORE AND STEEL CASING (FOR 12-INCH CARRIER PIPE)								
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs			
Southwest Water Works L.L.C.	First Offer - \$350.00	82 / linear foot	\$28,700.00		Y			
Product Code: WC-0619	Supplier Product Code:							
Agency Notes:		Supplier Notes:						
Cimarron Construction Company, LLC	First Offer - \$361.00	82 / linear foot	\$29,602.00		Y			
Product Code: WC-0619	•	Supplier Product Cod	le:					
Agency Notes:		Supplier Notes:						

OCWUT WC-061901-03 Base Bid: 6-INCH DIAMETER C900 PVC PIPE (DR 14)								
Supplier		Unit Price	Qty/Unit	Total Price	Attch.	Docs		
Cimarron Construction Company, LLC		First Offer - \$78.00	205 / linear foot	\$15,990.00		Υ		
Product Code: WC-0619		Supplier Product Code:						
Agency Notes:			Supplier Notes:					
Southwest Water Works L.L.C.		First Offer - \$100.00	205 / linear foot	\$20,500.00		Y		
Product Code: WC-0619			Supplier Product Code	e:				
Agency Notes:			Supplier Notes:					

OCWUT WC-061901-04 Base Bid: 8-INCH DIAMETER C900 PVC PIPE (DR 14)								
Supplier		Unit Price	Qty/Unit	Total Price	Attch.	Docs		
Cimarron Construction Company, LLC		First Offer - \$106.00	6395 / linear foot	\$677,870.00		Υ		
Product Code: WC-0619		Supplier Product Code:						
Agency Notes:			Supplier Notes:					
Southwest Water Works L.L.C.		First Offer - \$125.00	6395 / linear foot	\$799,375.00		Y		
Product Code: WC-0619			Supplier Product Code:	}				
Agency Notes:			Supplier Notes:					

OCWUT WC-061901-05 Base Bid: 12-INCH DIAMETER C900 PVC PIPE (DR 14)								
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs			
Southwest Water Works L.L.C.	First Offer - \$145.00	1984 / linear foot	\$287,680.00		Υ			
Product Code: WC-0619		Supplier Product Code:						
Agency Notes:		Supplier Notes:						
Cimarron Construction Company, LLC	First Offer - \$174.00	1984 / linear foot	\$345,216.00		Υ			
Product Code: WC-0619		Supplier Product Code:						
Agency Notes:		Supplier Notes:						

OCWUT WC-061901-06 Base Bid: REDUCER 12-INCH X 8-INCH							

Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs
Cimarron Construction Company, LLC	First Offer - \$865.00	2 / each	\$1,730.00		Υ
Product Code: WC-0619		Supplier Product Co	ode:		
Agency Notes:		Supplier Notes:			
Southwest Water Works L.L.C.	First Offer - \$1,500.00	2 / each	\$3,000.00		Υ
Product Code: WC-0619	·	Supplier Product Co	ode:		
Agency Notes:		Supplier Notes:			

OCWUT WC-061901-07 Base Bid: TEE 8-INCH X 6-INCH								
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs			
Cimarron Construction Company, LLC	First Offer - \$945.00	12 / each	\$11,340.00		Υ			
Product Code: WC-0619		Supplier Product Code:						
Agency Notes:		Supplier Notes:						
Southwest Water Works L.L.C.	First Offer - \$1,500.00	12 / each	\$18,000.00		Y			
Product Code: WC-0619		Supplier Product Code:						
Agency Notes:		Supplier Notes:						

OCWUT WC-061901-08 Base Bid: TEE 8-INCH X 8-INCH								
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs			
Cimarron Construction Company, LLC	First Offer - \$1,030.00	2 / each	\$2,060.00		Υ			
Product Code: WC-0619	Supplier Product Code:							
Agency Notes:		Supplier Notes:						
Southwest Water Works L.L.C.	First Offer - \$1,750.00	2 / each	\$3,500.00		Υ			
Product Code: WC-0619		Supplier Product Co	ode:					
Agency Notes:		Supplier Notes:						

OCWUT WC-061901-09 Base Bid: TEE 12-INCH X 6-INCH								
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs			
Cimarron Construction Company, LLC	First Offer - \$1,450.00	8 / each	\$11,600.00		Υ			
Product Code: WC-0619		Supplier Product Code:						
Agency Notes:		Supplier Notes:						
Southwest Water Works L.L.C.	First Offer - \$2,000.00	8 / each	\$16,000.00		Υ			
Product Code: WC-0619		Supplier Product Code:						
Agency Notes:		Supplier Notes:						

OCWUT WC-061901-10 Base Bid: TEE 12-INCH X 8-INCH									
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs				
Cimarron Construction Company, LLC	First Offer - \$1,825.00	1 / each	\$1,825.00		Υ				
Product Code: WC-0619		Supplier Product Code:							
Agency Notes:		Supplier Notes:							
Southwest Water Works L.L.C.	First Offer - \$2,200.00	1 / each	\$2,200.00		Y				
Product Code: WC-0619		Supplier Product Co	ode:						
Agency Notes:		Supplier Notes:							

OCWUT WC-061901-11 Base Bid: BEND 8-INCH 45 DEGREE									
Supplier	Unit Price Qty/Unit Total Price Attch.								
Cimarron Construction Company, LLC	First Offer - \$705.00	5 / each	\$3,525.00		Y				
Product Code: WC-0619		Supplier Product Co	ode:						
Agency Notes:		Supplier Notes:							
Southwest Water Works L.L.C.	First Offer - \$1,250.00	5 / each	\$6,250.00		Y				
Product Code: WC-0619		Supplier Product Co	ode:						
Agency Notes:		Supplier Notes:							

OCWUT WC-061901-12 Base Bid: BEND 12-INCH 45 DEGREE								
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs			
Cimarron Construction Company, LLC	First Offer - \$1,255.00	6 / each	\$7,530.00		Υ			
Product Code: WC-0619		Supplier Product Co	ode:					
Agency Notes:		Supplier Notes:						
Southwest Water Works L.L.C.	First Offer - \$1,750.00	6 / each	\$10,500.00		Υ			
Product Code: WC-0619		Supplier Product Co	ode:					
Agency Notes:		Supplier Notes:						

OCWUT WC-061901-13 Base Bid: BEND 6-INCH 90 DEGREE									
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs				
Cimarron Construction Company, LLC	First Offer - \$585.00	9 / each	\$5,265.00		Υ				
Product Code: WC-0619		Supplier Product Co	ode:						
Agency Notes:		Supplier Notes:							
Southwest Water Works L.L.C.	First Offer - \$1,300.00	9 / each	\$11,700.00		Y				
Product Code: WC-0619		Supplier Product Co	ode:						
Agency Notes:		Supplier Notes:							

OCWUT WC-061901-14 Base Bid: BEND 8-INCH 90 DEGREE									
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs				
Cimarron Construction Company, LLC	First Offer - \$750.00	3 / each	\$2,250.00		Υ				
Product Code: WC-0619		Supplier Product Code:							
Agency Notes:		Supplier Notes:							
Southwest Water Works L.L.C.	First Offer - \$1,700.00	3 / each	\$5,100.00		Y				
Product Code: WC-0619		Supplier Product Co	ode:						
Agency Notes:		Supplier Notes:							

OCWUT WC-061901-15 Base Bid: BEND 12-INCH 90 DEGREE									
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs				
Cimarron Construction Company, LLC	First Offer - \$1,345.00	2 / each	\$2,690.00		Y				
Product Code: WC-0619		Supplier Product Code:							
Agency Notes:		Supplier Notes:							
Southwest Water Works L.L.C.	First Offer - \$2,000.00	2 / each	\$4,000.00		Y				
Product Code: WC-0619		Supplier Product Code:							
Agency Notes:		Supplier Notes:							

OCWUT WC-061901-16 Base Bid: SHORT SERVICE CONNECTION									
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs				
Southwest Water Works L.L.C.	First Offer - \$1,200.00	35 / each	\$42,000.00		Υ				
Product Code: WC-0619 Supplier Product Code:									
Agency Notes:		Supplier Notes:							
Cimarron Construction Company, LLC	First Offer - \$1,420.00	35 / each	\$49,700.00		Υ				
Product Code: WC-0619		Supplier Product Co	ode:						
Agency Notes:		Supplier Notes:							

OCWUT WC-061901-17 Base Bid: LONG SERVICE CONNECTION									
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs				
Southwest Water Works L.L.C.	First Offer - \$1,600.00	46 / each	\$73,600.00		Υ				
Product Code: WC-0619	Supplier Product Code:								
Agency Notes:		Supplier Notes:							
Cimarron Construction Company, LLC	First Offer - \$2,730.00	46 / each	\$125,580.00		Y				
Product Code: WC-0619		Supplier Product Co	ode:						
Agency Notes:		Supplier Notes:							

OCWUT WC-061901-18 Base Bid: METER RELOCATION									
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs				
Southwest Water Works L.L.C.	First Offer - \$1,000.00	53 / each	\$53,000.00		Y				
Product Code: WC-0619 Supplier Product Code:									
Agency Notes:		Supplier Notes:							
Cimarron Construction Company, LLC	First Offer - \$2,935.00	53 / each	\$155,555.00		Y				
Product Code: WC-0619		Supplier Product Co	ode:						
Agency Notes:		Supplier Notes:							

OCWUT WC-061901-19 Base Bid: 6-INCH WET CONNECTION									
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs				
Cimarron Construction Company, LLC	First Offer - \$3,470.00	4 / each	\$13,880.00		Y				
Product Code: WC-0619		Supplier Product Code:							
Agency Notes:		Supplier Notes:							
Southwest Water Works L.L.C.	First Offer - \$5,000.00	4 / each	\$20,000.00		Y				
Product Code: WC-0619		Supplier Product Code:							
Agency Notes:		Supplier Notes:							

OCWUT WC-061901-20 Base Bid: 8-INCH WET CONNECTION									
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs				
Cimarron Construction Company, LLC	First Offer - \$5,375.00	1 / each	\$5,375.00		Y				
Product Code: WC-0619		Supplier Product Code:							
Agency Notes:		Supplier Notes:							
Southwest Water Works L.L.C.	First Offer - \$6,000.00	1 / each	\$6,000.00		Y				
Product Code: WC-0619		Supplier Product Code:							
Agency Notes:		Supplier Notes:							

OCWUT WC-061901-21 Base Bid: 6-INCH FIRE HYDRANT ASSEMBLY									
Supplier	Unit Price Qty/Unit Total Price Attch.								
Cimarron Construction Company, LLC	First Offer - \$5,690.00	15 / each	\$85,350.00		Υ				
Product Code: WC-0619		Supplier Product Code:							
Agency Notes:		Supplier Notes:							
Southwest Water Works L.L.C.	First Offer - \$7,000.00	15 / each	\$105,000.00		Υ				
Product Code: WC-0619		Supplier Product Co	ode:						
Agency Notes:		Supplier Notes:							

OCWUT WC-061901-22 Base Bid: TAPPING VALVE AND BOX 6-INCH									
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs				
Southwest Water Works L.L.C.	First Offer - \$3,500.00	1 / each	\$3,500.00		Y				
Product Code: WC-0619		Supplier Product Code:							
Agency Notes:		Supplier Notes:							
Cimarron Construction Company, LLC	First Offer - \$3,575.00	1 / each	\$3,575.00		Y				
Product Code: WC-0619		Supplier Product Code:							
Agency Notes:		Supplier Notes:							

OCWUT WC-061901-23 Base Bid: TAPPING VALVE AND BOX 8-INCH									
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs				
Southwest Water Works L.L.C.	First Offer - \$4,000.00	9 / each	\$36,000.00		Y				
Product Code: WC-0619	Supplier Product Code:								
Agency Notes:		Supplier Notes:							
Cimarron Construction Company, LLC	First Offer - \$4,635.00	9 / each	\$41,715.00		Y				
Product Code: WC-0619		Supplier Product Co	ode:						

Agency Notes: Supplier Notes:

OCWUT WC-061901-24 Base Bid: TAPPING VALVE AND BOX 12-INCH									
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs				
Southwest Water Works L.L.C.	First Offer - \$5,500.00	2 / each	\$11,000.00		Υ				
Product Code: WC-0619 Supplier Product Code:									
Agency Notes:		Supplier Notes:							
Cimarron Construction Company, LLC	First Offer - \$7,525.00	2 / each	\$15,050.00		Υ				
Product Code: WC-0619		Supplier Product Co	ode:						
Agency Notes:		Supplier Notes:							

OCWUT WC-061901-25 Base Bid: 6-INCH GATE VALVE AND BOX									
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs				
Cimarron Construction Company, LLC	First Offer - \$1,975.00	18 / each	\$35,550.00		Υ				
Product Code: WC-0619 Supplier Product Code:									
Agency Notes:		Supplier Notes:							
Southwest Water Works L.L.C.	First Offer - \$3,500.00	18 / each	\$63,000.00		Y				
Product Code: WC-0619 Supplier Product Code:									
Agency Notes:		Supplier Notes:							

OCWUT WC-061901-26 Base Bid: 8-INCH GATE VALVE AND BOX									
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs				
Cimarron Construction Company, LLC	First Offer - \$2,835.00	16 / each	\$45,360.00		Υ				
Product Code: WC-0619 Supplier Product Code:									
Agency Notes:		Supplier Notes:							
Southwest Water Works L.L.C.	First Offer - \$4,000.00	16 / each	\$64,000.00		Y				
Product Code: WC-0619		Supplier Product Co	ode:						
Agency Notes:		Supplier Notes:							

OCWUT WC-061901-27 Base Bid: 12-INCH GATE VALVE AND BOX									
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs				
Cimarron Construction Company, LLC	First Offer - \$5,160.00	8 / each	\$41,280.00		Υ				
Product Code: WC-0619	Supplier Product Code:								
Agency Notes:		Supplier Notes:							
Southwest Water Works L.L.C.	First Offer - \$5,500.00	8 / each	\$44,000.00		Υ				
Product Code: WC-0619		Supplier Product Code:							
Agency Notes:		Supplier Notes:							

OCWUT WC-061901-28 Base Bid: 6-INCH INSERTION VALVE									
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs				
Cimarron Construction Company, LLC	First Offer - \$7,280.00	3 / each	\$21,840.00		Υ				
Product Code: WC-0619 Supplier Product Code									
Agency Notes:		Supplier Notes:							
Southwest Water Works L.L.C.	First Offer - \$11,500.00	3 / each	\$34,500.00		Υ				
Product Code: WC-0619		Supplier Product Co	ode:						
Agency Notes:		Supplier Notes:							

OCWUT WC-061901-29 Base Bid: 8-INCH INSERTION VALVE									
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs				
Cimarron Construction Company, LLC	First Offer - \$7,280.00	1 / each	\$7,280.00		Υ				
Product Code: WC-0619		Supplier Product Code:							
Agency Notes:		Supplier Notes:							
Southwest Water Works L.L.C.	First Offer - \$13,500.00	1 / each	\$13,500.00		Υ				

 Product Code:
 WC-0619

 Agency Notes:
 Supplier Product Code:

 Supplier Notes:

OCWUT WC-061901-30 Base Bid: PRESSURE TESTING, DISINFECTION AND CHLORINATION									
Supplier		Unit Price	Qty/Unit	Total Price	Attch.	Docs			
Cimarron Construction Company, LLC		First Offer - \$16,135.00	1 / lump sum	\$16,135.00		Υ			
Product Code: WC-0619			Supplier Product Code:						
Agency Notes:			Supplier Notes:						
Southwest Water Works L.L.C.		First Offer - \$50,000.00	1 / lump sum	\$50,000.00		Υ			
Product Code: WC-0619			Supplier Product Co	ode:					
Agency Notes:			Supplier Notes:						

OCWUT WC-061901-31 Base Bid: TAPPING SLEEVE 6-INCH X 6-INCH									
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs				
Southwest Water Works L.L.C.	First Offer - \$2,250.00	1 / each	\$2,250.00		Υ				
Product Code: WC-0619		Supplier Product Code:							
Agency Notes:		Supplier Notes:							
Cimarron Construction Company, LLC	First Offer - \$3,045.00	1 / each	\$3,045.00		Y				
Product Code: WC-0619		Supplier Product Code:							
Agency Notes: Supplier Notes:									

OCWUT WC-061901-32 Base Bid: TAPPING SLEEVE 8-INCH X 8-INCH									
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs				
Southwest Water Works L.L.C.	First Offer - \$2,750.00	3 / each	\$8,250.00		Y				
Product Code: WC-0619 Supplier Product Code:									
Agency Notes:		Supplier Notes:							
Cimarron Construction Company, LLC	First Offer - \$3,980.00	3 / each	\$11,940.00		Y				
Product Code: WC-0619		Supplier Product Code:							
Agency Notes:		Supplier Notes:							

OCWUT WC-061901-33 Base Bid: TAPPING SLEEVE 12-INCH X 8-INCH									
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs				
Southwest Water Works L.L.C.	First Offer - \$3,500.00	6 / each	\$21,000.00		Υ				
Product Code: WC-0619		Supplier Product Code:							
Agency Notes:		Supplier Notes:							
Cimarron Construction Company, LLC	First Offer - \$4,310.00	6 / each	\$25,860.00		Y				
Product Code: WC-0619		Supplier Product Code:							
Agency Notes:		Supplier Notes:							

OCWUT WC-061901-34 Base Bid: TAPPING SLEEVE 12-INCH X 12-INCH									
Supplier		Unit Price	Qty/Unit	Total Price	Attch.	Docs			
Southwest Water Works L.L.C.		First Offer - \$4,000.00	2 / each	\$8,000.00		Y			
Product Code: WC-0619			Supplier Product Code:						
Agency Notes:			Supplier Notes:						
Cimarron Construction Company, LLC		First Offer - \$5,020.00	2 / each	\$10,040.00		Y			
Product Code: WC-0619			Supplier Product Co	ode:					
Agency Notes:			Supplier Notes:						

OCWUT WC-061901-35 Base Bid: CONSTRUCTION STAKING										
Supplier		Unit Price	Qty/Unit		Total Price	Attch.	Docs			
Cimarron Construction Company, LLC		First Offer - \$12,450.00	1 / lump sum		\$12,450.00		Υ			
Product Code: WC-0619			Supplier Product Code:							
Agency Notes:			Supplier Notes:							

Southwest Water Works L.L.C.	Ш	First Offer - \$60,000.00	1 / lump sum	\$60,000.00	Y
Product Code: WC-0619			Supplier Product Co	ode:	
Agency Notes:			Supplier Notes:		

OCWUT WC-061901-36 Base Bid: AS-BUILT SURVEY									
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs				
Cimarron Construction Company, LLC	First Offer - \$3,125.00	1 / lump sum	\$3,125.00		Υ				
Product Code: WC-0619	Supplier Product Code:								
Agency Notes:		Supplier Notes:							
Southwest Water Works L.L.C.	First Offer - \$20,000.00	1 / lump sum	\$20,000.00		Υ				
Product Code: WC-0619		Supplier Product Co	ode:						
Agency Notes:		Supplier Notes:							

OCWUT WC-061901-37 Base Bid: PRE AND POST CONSTRUCTION VIDEO									
Supplier		Unit Price	Qty/Unit	Total Price	Attch.	Docs			
Cimarron Construction Company, LLC		First Offer - \$500.00	1 / lump sum	\$500.00		Υ			
Product Code: WC-0619			Supplier Product Code:						
Agency Notes:			Supplier Notes:						
Southwest Water Works L.L.C.		First Offer - \$30,000.00	1 / lump sum	\$30,000.00		Y			
Product Code: WC-0619			Supplier Product Code:						
Agency Notes:			Supplier Notes:						

OCWUT WC-061901-38 Base Bid: CONSTRUCTION TRAFFIC CONTROL									
Supplier		Unit Price	Qty/Unit	Total I	rice	Attch.	Docs		
Cimarron Construction Company, LLC		First Offer - \$10,355.00	1 / lump sum	\$10,35	5.00		Υ		
Product Code: WC-0619	Supplier Product Code:								
Agency Notes:			Supplier Notes:						
Southwest Water Works L.L.C.		First Offer - \$45,000.00	1 / lump sum	\$45,00	0.00		Υ		
Product Code: WC-0619			Supplier Product Co	ode:					
Agency Notes:			Supplier Notes:						

OCWUT WC-061901-39 Base Bid: CLEARING AND GRUBBING									
Supplier		Unit Price	Qty/Unit	Total Price	Attch.	Docs			
Southwest Water Works L.L.C.		First Offer - \$45,000.00	1 / lump sum	\$45,000.00		Υ			
Product Code: WC-0619	Supplier Product Code:								
Agency Notes:			Supplier Notes:						
Cimarron Construction Company, LLC		First Offer - \$86,705.00	1 / lump sum	\$86,705.00		Y			
Product Code: WC-0619			Supplier Product Code:						
Agency Notes:			Supplier Notes:						

OCWUT WC-061901-40 Base Bid: REMOVE AND REPLACE DRIVEWAY (GRAVEL)									
Supplier		Unit Price	Qty/Unit	Total Price	Attch.	Docs			
Cimarron Construction Company, LLC		First Offer - \$42.00	241 / square yard	\$10,122.00		Υ			
Product Code: WC-0619			Supplier Product Code:						
Agency Notes:			Supplier Notes:						
Southwest Water Works L.L.C.		First Offer - \$75.00	241 / square yard	\$18,075.00		Y			
Product Code: WC-0619			Supplier Product Code:						
Agency Notes:			Supplier Notes:						

OCWUT WC-061901-41 Base Bid: PAVEMENT CUT AND REPAIR (CONCRETE)									
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs				
Cimarron Construction Company, LLC	First Offer - \$270.00	71 / square yard	\$19,170.00		Υ				
Product Code: WC-0619		Supplier Product Code	:						

Agency Notes:		Supplier Notes:		
Southwest Water Works L.L.C.	First Offer - \$275.00	71 / square yard	\$19,525.00	Υ
Product Code: WC-0619		Supplier Product Code:		
Agency Notes:		Supplier Notes:		

OCWUT WC-061901-42 Base Bid: TEMPORARY EROSION AND SEDIMENT CONTROL									
Supplier		Unit Price	Qty/Unit	Total Price	Attch.	Docs			
Cimarron Construction Company, LLC		First Offer - \$2,350.00	1 / lump sum	\$2,350.00		Υ			
Product Code: WC-0619			Supplier Product Code:						
Agency Notes:			Supplier Notes:						
Southwest Water Works L.L.C.		First Offer - \$20,000.00	1 / lump sum	\$20,000.00		Υ			
Product Code: WC-0619			Supplier Product Co	ode:					
Agency Notes:			Supplier Notes:						

OCWUT WC-061901-43 Base Bid: SOLID SLAB SODDING										
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs					
Southwest Water Works L.L.C.	First Offer - \$2.50	6826 / square yard	\$17,065.00		Y					
Product Code: WC-0619		Supplier Product Code:								
Agency Notes:		Supplier Notes:								
Cimarron Construction Company, LLC	First Offer - \$3.50	6826 / square yard	\$23,891.00		Y					
Product Code: WC-0619		Supplier Product Code:								
Agency Notes:		Supplier Notes:								

OCWUT WC-061901-44 Base Bid: REMOVE AND REPLACE DRIVEWAY (CONCRETE)										
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs					
Southwest Water Works L.L.C.	First Offer - \$225.00	165 / square yard	\$37,125.00		Υ					
Product Code: WC-0619		Supplier Product Code:								
Agency Notes:		Supplier Notes:								
Cimarron Construction Company, LLC	First Offer - \$280.00	165 / square yard	\$46,200.00		Υ					
Product Code: WC-0619		Supplier Product Code:								
Agency Notes:		Supplier Notes:								

OCWUT WC-061901-45 Base Bid: BORE AND STEEL CASING (FOR 6-INCH CARRIER PIPE)										
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs					
Southwest Water Works L.L.C.	First Offer - \$200.00	34 / linear foot	\$6,800.00		Υ					
Product Code: WC-0619		Supplier Product Cod	le:							
Agency Notes:		Supplier Notes:								
Cimarron Construction Company, LLC	First Offer - \$270.00	34 / linear foot	\$9,180.00		Υ					
Product Code: WC-0619		Supplier Product Cod	le:							
Agency Notes:		Supplier Notes:								

Supplier Totals

f Cimarron Co	onstruction Company, LLC	\$2,114,411.00 (45/45 items)
Bid Contact	Don E Noble CM@cimarronconstructionco.com Ph 405-728-1555 Fax 405-728-5026	Address 3501 NE. 63rd Street Oklahoma City, OK 73121	
Qualifications	OKC PRE-QUALIFIED CONTRACTORS		
Agency Notes		Supplier Notes:	Head Attch:
f Southwest \	Nater Works L.L.C.	\$2,237,695.00 (45/45 items)

bid #OCWUT WC-0619 -Waterline Replacement City of Oklahoma City and its Trusts

Bid Contact Paul Matthews Address 201 NW 132nd St

paul@swwaterworks.com Oklahoma City, OK 73114

Ph 405990 Fax 405-463-5665

Qualifications **OKC PRE-QUALIFIED CONTRACTORS**

Agency Notes: Supplier Notes: Head Attch:



**All bids/proposals submitted for the designated project are reflected on this tabulation sheet. However, the listing of the bid/proposal on this tabulation sheet shall not be construed as a comment on the responsiveness of such bid/proposal or as any indication that the agency accepts such bid/proposal as being responsive. The agency will make a determination as to the responsiveness of the vendor responses submitted based upon compliance with all applicable laws, purchasing guidelines and project documents, including but not limited to the project specifications and contract documents. The agency will notify the successful vendor upon award of the contract and, as according to the law, all bid/proposal responses received may be available for inspection at that time.

THE BID COMMITTEE WILL MEET IN THE CITY CLERK'S CONFERENCE ROOM, 200 N. WALKER 2ND FLOOR, MUNICIPAL BUILDING, AT 10:00 A.M. OR LATER.

City Clerk

Bid Committee Bid Tab

Bid OCWUT WM-0356 Ended At Mar 8, 2023 10:00:00 AM CST CONSTRUCTION/OCWUT - Lake Road Watershed Protection

Company:	C-P Integrated Services	Cimarron Construction Company, LLC	Brewer Construction Oklahoma _{#3}
Base Bid	\$2,881,524.00	\$3,101,923.00	\$3,338,363.14
TOTAL BID:	\$2,881,524.00	\$3,101,923.00	\$3,338,363.14

Company:	T.J. Campbell Construction Co.	Wynn Construction Co., Inc	Ellsworth Construction OKC dba Atech Paving
Base Bid	\$3,500,504.50	\$3,615,660.10	\$3,831,729.21
TOTAL BID:	\$3,500,504.50	\$3,615,660.10	\$3,831,729.21

Tresha Williams	Angee Wagner	Tim Alvarez
City Clerk	Procurement	Auditor

Potential Bid Defects Noted:

- #1 Anti-collusion affidavit not properly notarized
- #2 Bid Bond missing
- #3 Bid Bond incorrect awarding agency
- #4 Bid Bond insufficient amount
- #5 Business relationship affidavit not properly notarized

THE BID COMMITTEE DOES NOT REJECT OR ACCEPT BIDS. The noting or failing to note on the bid tabulation any defect by the Bid Committee is not conclusive of the validity, regularity, completeness or legality of any bid. Questions regarding bid defects or irregularities should be directed to the Municipal Counselor's Office at (405) 297-2451.

Originating Department shall:

- 1. Carefully examine and evaluate all opened bids, including a review of potential defects noted by the Bid Committee;
- 2. Contact your legal representative prior to recommending contract award based on a bid with any potential or perceived irregularity or defect; and
- 3. Prepare a memorandum to Council or its Trusts with recommendations regarding contract award, listing all bids opened and noting any defects; and
- 4. Attach a copy of the Bid Committee's bid tabulation with the SIRE item recommending contract award as a non-published document for review by staff.

Bid #OCWUT WM-0356 - Lake Road Watershed Protection

Start Date Feb 15, 2023 7:53:24 AM CST Awarded Date Not Yet Awarded

OCWUT WM-035601-01 Base Bid: UNCLASSIFIED EXC	CAVATION				
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs
C-P Integrated Services	First Offer - \$14.25	46510 / cubic yard	\$662,767.50	Υ	Υ
Product Code: WM-0356 Agency Notes:		Supplier Product Code: Supplier Notes:			
Cimarron Construction Company, LLC	First Offer - \$16.00	46510 / cubic yard	\$744,160.00	Υ	Υ
Product Code: WM-0356 Agency Notes:		Supplier Product Code: Supplier Notes:			
T.J. Campbell Construction Co.	First Offer - \$18.00	46510 / cubic yard	\$837,180.00		Υ
Product Code: WM-0356 Agency Notes:		Supplier Product Code: Supplier Notes:			
Wynn Construction Co., Inc	First Offer - \$18.50	46510 / cubic yard	\$860,435.00	Υ	Υ
Product Code: WM-0356 Agency Notes:		Supplier Product Code: Supplier Notes:			
Brewer Construction Oklahoma LLC	First Offer - \$19.31	46510 / cubic yard	\$898,108.10	Υ	Υ
Product Code: WM-0356 Agency Notes:		Supplier Product Code: Supplier Notes:			
Ellsworth Construction OKC dba Atech Paving	First Offer - \$21.22	46510 / cubic yard	\$986,942.20		Υ
Product Code: WM-0356 Agency Notes:		Supplier Product Code: Supplier Notes:		·	

OCWUT WM-035601-02 Base Bid: PROOF ROLLING SUBGRADE							
Supplier	Uni	t Price	Qty/Unit	Total Price	Attch.	Docs	
T.J. Campbell Construction Co.	First Offer -	\$0.10	49000 / square yard	\$4,900.00		Y	
Product Code: WM-0356			Supplier Product Code:				
Agency Notes:			Supplier Notes:				
Ellsworth Construction OKC dba Atech Paving	First Offer -	\$0.40	49000 / square yard	\$19,600.00		Υ	
Product Code: WM-0356			Supplier Product Code:				
Agency Notes:			Supplier Notes:				
Brewer Construction Oklahoma LLC	First Offer -	\$0.43	49000 / square yard	\$21,070.00		Y	
Product Code: WM-0356			Supplier Product Code:				
Agency Notes:			Supplier Notes:				
Wynn Construction Co., Inc	First Offer -	\$0.46	49000 / square yard	\$22,540.00		Y	
Product Code: WM-0356			Supplier Product Code:				
Agency Notes:			Supplier Notes:				
C-P Integrated Services	First Offer -	\$0.50	49000 / square yard	\$24,500.00		Y	
Product Code: WM-0356			Supplier Product Code:				
Agency Notes:			Supplier Notes:				
Cimarron Construction Company, LLC	First Offer -	\$2.00	49000 / square yard	\$98,000.00		Y	
Product Code: WM-0356			Supplier Product Code:				
Agency Notes:			Supplier Notes:				

OCWUT WM-035601-03 Base Bid: TYPE A AGGREGATE BASE, CLASS A								
Supplier		Unit Price	Qty/Unit	Total Price	Attch.	Docs		
T.J. Campbell Construction Co.		First Offer - \$35.00	17638 / ton	\$617,330.00		Y		
Product Code: WM-0356			Supplier Product Code:					
Agency Notes:			Supplier Notes:					
C-P Integrated Services		First Offer - \$39.00	17638 / ton	\$687,882.00		Y		

Product Code: WM-0356			Supplier Product C	ode:		
Agency Notes:			Supplier Notes:			
Cimarron Construction Company, LLC		First Offer - \$40.00	17638 / ton	\$705,520.00		Y
Product Code: WM-0356	Supplier Product C	ode:				
Agency Notes:			Supplier Notes:			
Ellsworth Construction OKC dba Atech Paving		First Offer - \$40.35	17638 / ton	\$711,693.30		Υ
Product Code: WM-0356			Supplier Product Code:			
Agency Notes:			Supplier Notes:			
Wynn Construction Co., Inc		First Offer - \$49.00	17638 / ton	\$864,262.00		Υ
Product Code: WM-0356			Supplier Product Code:			
Agency Notes:			Supplier Notes:			
Brewer Construction Oklahoma LLC		First Offer - \$51.17	17638 / ton	\$902,536.46		Υ
Product Code: WM-0356			Supplier Product C	ode:		
Agency Notes:			Supplier Notes:			

OCWUT WM-035601-04 Base Bid: PROCESSING EXISTING BASE AND SURFACE, METHOD B								
Supplier		Unit P	Price	Qty/Unit	Total Price	Attch.	Docs	
C-P Integrated Services		First Offer - \$	1.50	49000 / square yard	\$73,500.00		Υ	
Product Code: WM-0356				Supplier Product Code:				
Agency Notes:				Supplier Notes:				
Brewer Construction Oklahoma LLC		First Offer - \$2	2.04	49000 / square yard	\$99,960.00		Υ	
Product Code: WM-0356				Supplier Product Code:				
Agency Notes:				Supplier Notes:				
T.J. Campbell Construction Co.		First Offer - \$2	2.30	49000 / square yard	\$112,700.00		Υ	
Product Code: WM-0356				Supplier Product Code:				
Agency Notes:				Supplier Notes:				
Cimarron Construction Company, LLC		First Offer - \$4	4.00	49000 / square yard	\$196,000.00		Υ	
Product Code: WM-0356				Supplier Product Code:				
Agency Notes:				Supplier Notes:				
Ellsworth Construction OKC dba Atech Paving		First Offer - \$4	4.10	49000 / square yard	\$200,900.00		Υ	
Product Code: WM-0356				Supplier Product Code:				
Agency Notes:				Supplier Notes:				
Wynn Construction Co., Inc		First Offer - \$!	5.00	49000 / square yard	\$245,000.00		Υ	
Product Code: WM-0356				Supplier Product Code:				
Agency Notes:				Supplier Notes:				

OCWUT WM-035601-05 Base Bid: REINFORCED CONCRETE PIPE (18 INCHES)									
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs				
C-P Integrated Services	First Offer - \$94.00	306 / linear foot	\$28,764.00		Υ				
Product Code: WM-0356		Supplier Product Cod	le:						
Agency Notes:		Supplier Notes:							
Cimarron Construction Company, LLC	First Offer - \$95.00	306 / linear foot	\$29,070.00		Υ				
Product Code: WM-0356		Supplier Product Cod	le:						
Agency Notes:		Supplier Notes:							
Brewer Construction Oklahoma LLC	First Offer - \$106.99	306 / linear foot	\$32,738.94		Υ				
Product Code: WM-0356		Supplier Product Code:							
Agency Notes:		Supplier Notes:							
T.J. Campbell Construction Co.	First Offer - \$120.00	306 / linear foot	\$36,720.00		Υ				
Product Code: WM-0356		Supplier Product Cod	le:						
Agency Notes:		Supplier Notes:							
Ellsworth Construction OKC dba Atech Paving	First Offer - \$124.16	306 / linear foot	\$37,992.96		Υ				
Product Code: WM-0356		Supplier Product Cod	le:						
Agency Notes:		Supplier Notes:							
Wynn Construction Co., Inc	First Offer - \$138.00	306 / linear foot	\$42,228.00		Y				
Product Code: WM-0356		Supplier Product Cod	le:						

Agency Notes: Supplier Notes:

OCWUT WM-035601-06 Base Bid: REINFORCED C	UNCKETE PIPE (24 INCHES)				
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs
Cimarron Construction Company, LLC	First Offer - \$110.00	254 / linear foot	\$27,940.00		Y
Product Code: WM-0356		Supplier Product Cod	le:		
Agency Notes:		Supplier Notes:			
C-P Integrated Services	First Offer - \$112.75	254 / linear foot	\$28,638.50		Υ
Product Code: WM-0356		Supplier Product Cod	le:		
Agency Notes:		Supplier Notes:			
Brewer Construction Oklahoma LLC	First Offer - \$123.83	254 / linear foot	\$31,452.82		Y
Product Code: WM-0356		Supplier Product Cod	le:		
Agency Notes:		Supplier Notes:			
T.J. Campbell Construction Co.	First Offer - \$130.00	254 / linear foot	\$33,020.00		Υ
Product Code: WM-0356		Supplier Product Cod	le:		
Agency Notes:		Supplier Notes:			
Ellsworth Construction OKC dba Atech Paving	First Offer - \$144.23	254 / linear foot	\$36,634.42		Υ
Product Code: WM-0356		Supplier Product Cod	le:		
Agency Notes:		Supplier Notes:			
Wynn Construction Co., Inc	First Offer - \$165.00	254 / linear foot	\$41,910.00		Υ
Product Code: WM-0356		Supplier Product Cod	le:		
Agency Notes:		Supplier Notes:			

OCWUT WM-035601-07 Base Bid: REINFORCED CONG	CRETE PIPE (30 INCHES)					
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs	
C-P Integrated Services	First Offer - \$130.00	89 / linear foot	\$11,570.00		Y	
Product Code: WM-0356	Supplier Product Co	ode:				
Agency Notes:		Supplier Notes:				
Brewer Construction Oklahoma LLC	First Offer - \$139.57	89 / linear foot	\$12,421.73		Y	
Product Code: WM-0356		Supplier Product Co	ode:			
Agency Notes:		Supplier Notes:				
Cimarron Construction Company, LLC	First Offer - \$145.00	89 / linear foot	\$12,905.00		Y	
Product Code: WM-0356		Supplier Product Code:				
Agency Notes:		Supplier Notes:				
T.J. Campbell Construction Co.	First Offer - \$170.00	89 / linear foot	\$15,130.00		Y	
Product Code: WM-0356		Supplier Product Co	ode:			
Agency Notes:		Supplier Notes:				
Ellsworth Construction OKC dba Atech Paving	First Offer - \$185.81	89 / linear foot	\$16,537.09		Y	
Product Code: WM-0356		Supplier Product Co	ode:			
Agency Notes:		Supplier Notes:				
Wynn Construction Co., Inc	First Offer - \$210.00	89 / linear foot	\$18,690.00		Y	
Product Code: WM-0356		Supplier Product Co	ode:			
Agency Notes:		Supplier Notes:				

OCWUT WM-035601-08 Base Bid: REINFORCED CONCRETE PIPE (36 INCHES)									
Supplier		Unit Price	Qty/Unit		Total Price	Attch.	Docs		
Cimarron Construction Company, LLC		First Offer - \$155.00	90 / linear foot		\$13,950.00		Υ		
Product Code: WM-0356			Supplier Product Co	de:					
Agency Notes:			Supplier Notes:						
C-P Integrated Services		First Offer - \$165.75	90 / linear foot		\$14,917.50		Υ		
Product Code: WM-0356			Supplier Product Code:						
Agency Notes:			Supplier Notes:						
Brewer Construction Oklahoma LLC		First Offer - \$171.98	90 / linear foot		\$15,478.20		Υ		
Product Code: WM-0356			Supplier Product Co	de:					
Agency Notes:			Supplier Notes:						

T.J. Campbell Construction Co.		First Offer - \$200.00	90 / linear foot	\$18,000.00		Υ
Product Code: WM-0356		Supplier Product Code:				
		Supplier Notes:				
Ellsworth Construction OKC dba Atech Paving	П	First Offer - \$219.61	90 / linear foot	\$19,764.90		Υ
Product Code: WM-0356			Supplier Product Code:			
Agency Notes:			Supplier Notes:			
Wynn Construction Co., Inc	П	First Offer - \$260.00	90 / linear foot	\$23,400.00		Υ
Product Code: WM-0356		Supplier Product Code:				
Agency Notes:		Supplier Notes:				

OCWUT WM-035601-09 Base Bid: PREFABRICATE	CON	CRETE END SECTION (18	INCHES)				
Supplier		Unit Price	Qty/Unit	Total Price	Attch.	Docs	
Brewer Construction Oklahoma LLC		First Offer - \$1,009.96	13 / each	\$13,129.48		Υ	
			Supplier Product C	Code:			
Agency Notes:			Supplier Notes:				
C-P Integrated Services		First Offer - \$1,046.75	13 / each	\$13,607.75		Y	
Product Code: WM-0356			Supplier Product C	Code:			
Agency Notes:			Supplier Notes:				
T.J. Campbell Construction Co.		First Offer - \$1,100.00	13 / each	\$14,300.00		Y	
Product Code: WM-0356			Supplier Product Code:				
Agency Notes:			Supplier Notes:				
Ellsworth Construction OKC dba Atech Paving		First Offer - \$1,119.14	13 / each	\$14,548.82		Υ	
Product Code: WM-0356			Supplier Product C	Code:			
Agency Notes:			Supplier Notes:				
Cimarron Construction Company, LLC		First Offer - \$1,250.00	13 / each	\$16,250.00		Υ	
Product Code: WM-0356			Supplier Product C	Code:			
Agency Notes:			Supplier Notes:				
Wynn Construction Co., Inc		First Offer - \$1,800.00	13 / each	\$23,400.00		Υ	
Product Code: WM-0356			Supplier Product C	Code:			
Agency Notes:			Supplier Notes:				

OCWUT WM-035601-10 Base Bid: PREFABRICATED CON	ICRETE END SECTION (24	INCHES)				
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs	
C-P Integrated Services	First Offer - \$1,175.00	12 / each	\$14,100.00		Υ	
Product Code: WM-0356	Supplier Product C	ode:				
Agency Notes:		Supplier Notes:				
T.J. Campbell Construction Co.	First Offer - \$1,200.00	12 / each	\$14,400.00		Y	
Product Code: WM-0356		Supplier Product C	ode:			
Agency Notes:		Supplier Notes:				
Brewer Construction Oklahoma LLC	First Offer - \$1,238.85	12 / each	\$14,866.20		Y	
Product Code: WM-0356		Supplier Product Code:				
Agency Notes:		Supplier Notes:				
Cimarron Construction Company, LLC	First Offer - \$1,350.00	12 / each	\$16,200.00		Υ	
Product Code: WM-0356		Supplier Product C	Code:			
Agency Notes:		Supplier Notes:				
Ellsworth Construction OKC dba Atech Paving	First Offer - \$1,365.23	12 / each	\$16,382.76		Y	
Product Code: WM-0356		Supplier Product C	ode:			
Agency Notes:		Supplier Notes:				
Wynn Construction Co., Inc	First Offer - \$2,000.00	12 / each	\$24,000.00		Y	
Product Code: WM-0356		Supplier Product C	Code:			
Agency Notes:		Supplier Notes:				

OCWUT WM-035601-11 Base Bid: PREFABRICATED CONCRETE END SECTION (30 INCHES)						
Supplier	Unit Price Qty/Unit Total Price Attch. Do					
Cimarron Construction Company, LLC	First Offer - \$1,650.00	4 / each	\$6,600.00		Υ	

ito Truoto			
		Code:	
First Offer - \$1,700.00	4 / each	\$6,800.00	Υ
	Supplier Product C	Code:	
	Supplier Notes:		
First Offer - \$1,800.00	4 / each	\$7,200.00	Υ
	Supplier Product C	Code:	
	Supplier Notes:		
First Offer - \$1,811.80	4 / each	\$7,247.20	Y
	Supplier Product C	Code:	
	Supplier Notes:		
First Offer - \$2,084.26	4 / each	\$8,337.04	Υ
	Supplier Product C	Code:	
	Supplier Notes:		
First Offer - \$2,600.00	4 / each	\$10,400.00	Y
	Supplier Product C	Code:	
	Supplier Notes:		
	First Offer - \$1,700.00 First Offer - \$1,800.00 First Offer - \$1,811.80 First Offer - \$2,084.26	Supplier Product C Supplier Notes: First Offer - \$1,700.00 4 / each Supplier Product C Supplier Notes: First Offer - \$1,800.00 4 / each Supplier Product C Supplier Notes: First Offer - \$1,811.80 4 / each Supplier Product C Supplier Notes: First Offer - \$2,084.26 4 / each Supplier Product C Supplier Notes: First Offer - \$2,084.26 4 / each Supplier Product C	Supplier Product Code: Supplier Notes:

OCWUT WM-035601-12 Base Bid: PREFABRICATED CO	ONC	RETE END SECTION	36	INCHES)			
Supplier		Unit Pr	ce	Qty/Unit	Total Price	Attch.	Docs
Cimarron Construction Company, LLC		First Offer - \$2,000.	00	4 / each	\$8,000.00		Y
Product Code: WM-0356			Supplier Product (Code:			
Agency Notes:				Supplier Notes:			
T.J. Campbell Construction Co.		First Offer - \$2,200.	00	4 / each	\$8,800.00		Y
Product Code: WM-0356				Supplier Product (Code:		
Agency Notes:				Supplier Notes:			
C-P Integrated Services		First Offer - \$2,275.	00	4 / each	\$9,100.00		Y
Product Code: WM-0356				Supplier Product Code:			
Agency Notes:				Supplier Notes:			
Brewer Construction Oklahoma LLC		First Offer - \$2,321.	34	4 / each	\$9,287.36		Y
Product Code: WM-0356				Supplier Product (Code:		
Agency Notes:				Supplier Notes:			
Ellsworth Construction OKC dba Atech Paving		First Offer - \$2,622.	36	4 / each	\$10,491.44		Υ
Product Code: WM-0356			Supplier Product Code:				
Agency Notes:				Supplier Notes:			
Wynn Construction Co., Inc		First Offer - \$3,000.	00	4 / each	\$12,000.00		Y
Product Code: WM-0356				Supplier Product (Code:		
Agency Notes:				Supplier Notes:			

OCWUT WM-035601-13 Base Bid: BOX TYPE INLET					
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs
Brewer Construction Oklahoma LLC	First Offer - \$5,101.66	1 / each	\$5,101.66		Υ
Product Code: WM-0356	·	Supplier Product (Code:		
Agency Notes:		Supplier Notes:			
Cimarron Construction Company, LLC	First Offer - \$5,600.00	1 / each	\$5,600.00		Y
Product Code: WM-0356		Supplier Product (Code:		
Agency Notes:		Supplier Notes:			
Wynn Construction Co., Inc	First Offer - \$7,000.00	1 / each	\$7,000.00		Y
Product Code: WM-0356		Supplier Product (Code:		
Agency Notes:		Supplier Notes:			
T.J. Campbell Construction Co.	First Offer - \$8,000.00	1 / each	\$8,000.00		Y
Product Code: WM-0356		Supplier Product (Code:		
Agency Notes:		Supplier Notes:			
Ellsworth Construction OKC dba Atech Paving	First Offer - \$8,807.35	1 / each	\$8,807.35		Υ
Product Code: WM-0356		Supplier Product (Code:		

Agency Notes:		Supplier Notes:		
C-P Integrated Services	First Offer - \$13,150.00	1 / each	\$13,150.00	Y
Product Code: WM-0356		Supplier Product (Code:	
Agency Notes:		Supplier Notes:		

OCWUT WM-035601-14 Base Bid: CONSTRUCTION	I STAKING				
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs
Cimarron Construction Company, LLC	First Offer - \$12,000.00	1 / lump sum	\$12,000.00		Υ
Product Code: WM-0356 Agency Notes:		Supplier Product (Supplier Notes:	Code:		
Brewer Construction Oklahoma LLC	First Offer - \$13,620.00	1 / lump sum	\$13,620.00		Y
Product Code: WM-0356 Agency Notes:		Supplier Product (Supplier Notes:	Code:		
C-P Integrated Services	First Offer - \$18,250.00	1 / lump sum	\$18,250.00		Y
Product Code: WM-0356 Agency Notes:		Supplier Product (Supplier Notes:	Code:		
Wynn Construction Co., Inc	First Offer - \$30,000.00	1 / lump sum	\$30,000.00		Y
Product Code: WM-0356 Agency Notes:		Supplier Product (Supplier Notes:	Code:		
Ellsworth Construction OKC dba Atech Paving	First Offer - \$30,100.00	1 / lump sum	\$30,100.00		Υ
Product Code: WM-0356 Agency Notes:		Supplier Product (Supplier Notes:	Code:		
T.J. Campbell Construction Co.	First Offer - \$40,000.00	1 / lump sum	\$40,000.00		Υ
Product Code: WM-0356 Agency Notes:		Supplier Product (Supplier Notes:	Code:		

OCWUT WM-035601-15 Base Bid: CONSTRUCTION TRA	AFFIC CONTROL				
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs
Cimarron Construction Company, LLC	First Offer - \$5,900.00	1 / lump sum	\$5,900.00		Υ
		Supplier Product (Supplier Notes:	Code:		
Brewer Construction Oklahoma LLC	First Offer - \$9,083.70	1 / lump sum	\$9,083.70		Υ
Product Code: WM-0356 Agency Notes: Supplier Product Code: Supplier Notes:			Code:		
Wynn Construction Co., Inc	First Offer - \$10,000.00	1 / lump sum	\$10,000.00		Υ
Product Code: WM-0356 Agency Notes:		Supplier Product (Supplier Notes:	Code:		
C-P Integrated Services	First Offer - \$10,500.00	1 / lump sum	\$10,500.00		Y
Product Code: WM-0356 Agency Notes:		Supplier Product (Supplier Notes:	Code:		
T.J. Campbell Construction Co.	First Offer - \$17,000.00	1 / lump sum	\$17,000.00		Υ
		Supplier Product (Supplier Notes:	Code:		
Ellsworth Construction OKC dba Atech Paving	First Offer - \$20,100.00	1 / lump sum	\$20,100.00		Υ
Product Code: WM-0356 Agency Notes:		Supplier Product (Supplier Notes:	Code:		

OCWUT WM-035601-16 Base Bid: MOBILIZATION						
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs	
C-P Integrated Services	First Offer - \$50,000.00	1 / lump sum	\$50,000.00		Y	
Product Code: WM-0356		Supplier Product Code:				
Agency Notes:		Supplier Notes:				
Cimarron Construction Company, LLC	First Offer - \$100,000.00	1 / lump sum	\$100,000.00		Y	
Product Code: WM-0356		Supplier Product (Code:			
Agency Notes:		Supplier Notes:				

Wynn Construction Co., Inc	First Offer - \$110,000.00	1 / lump sum	\$110,000.00	Y
Product Code: WM-0356	Supplier Product Code:			
Agency Notes:		Supplier Notes:		
Brewer Construction Oklahoma LLC	First Offer - \$166,732.95	1 / lump sum	\$166,732.95	Υ
Product Code: WM-0356		Supplier Product (Code:	
Agency Notes:		Supplier Notes:		
T.J. Campbell Construction Co.	First Offer - \$210,000.00	1 / lump sum	\$210,000.00	Υ
Product Code: WM-0356		Supplier Product (Code:	
Agency Notes:		Supplier Notes:		
Ellsworth Construction OKC dba Atech Paving	First Offer - \$328,000.00	1 / lump sum	\$328,000.00	Υ
Product Code: WM-0356		Supplier Product (Code:	
Agency Notes:		Supplier Notes:		

OCWUT WM-035601-17 Base Bid: CLEARING AND	GRU	IBBING				
Supplier		Unit Price	Qty/Unit	Total Price	Attch.	Docs
Cimarron Construction Company, LLC		First Offer - \$65,000.00	1 / lump sum	\$65,000.00		Υ
			Supplier Product Code: Supplier Notes:			
C-P Integrated Services		First Offer - \$65,000.00	1 / lump sum	\$65,000.00		Υ
Product Code: WM-0356 Agency Notes:			Supplier Product (Supplier Notes:	Code:		
Wynn Construction Co., Inc		First Offer - \$70,000.00	1 / lump sum	\$70,000.00		Υ
Product Code: WM-0356 Agency Notes:			Supplier Product (Supplier Notes:	Code:		
Brewer Construction Oklahoma LLC		First Offer - \$132,350.50	1 / lump sum	\$132,350.50		Υ
Product Code: WM-0356 Agency Notes:			Supplier Product Code: Supplier Notes:			
T.J. Campbell Construction Co.		First Offer - \$136,000.00	1 / lump sum	\$136,000.00		Υ
			Supplier Product (Supplier Notes:	Code:		
Ellsworth Construction OKC dba Atech Paving		First Offer - \$140,500.00	1 / lump sum	\$140,500.00		Υ
Product Code: WM-0356 Agency Notes:			Supplier Product (Supplier Notes:	Code:		

OCWUT WM-035601-18 Base Bid: REMOVE STORM SEW	/ER (CGMP)					
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs	
Cimarron Construction Company, LLC	First Offer - \$2.00	121 / linear foot	\$242.00		Υ	
		Supplier Product Code Supplier Notes:	e:			
C-P Integrated Services	First Offer - \$13.75	121 / linear foot	\$1,663.75		Υ	
Product Code: WM-0356 Agency Notes:	Supplier Product Code Supplier Notes:	e:				
Brewer Construction Oklahoma LLC	First Offer - \$18.75	121 / linear foot	\$2,268.75		Υ	
		Supplier Product Code: Supplier Notes:				
Ellsworth Construction OKC dba Atech Paving	First Offer - \$20.53	121 / linear foot	\$2,484.13		Υ	
Product Code: WM-0356 Agency Notes:		Supplier Product Code: Supplier Notes:				
Wynn Construction Co., Inc	First Offer - \$40.00	121 / linear foot	\$4,840.00		Υ	
		Supplier Product Code Supplier Notes:	e:			
T.J. Campbell Construction Co.	First Offer - \$60.00	121 / linear foot	\$7,260.00		Υ	
Product Code: WM-0356 Agency Notes:		Supplier Product Code Supplier Notes:	e:			

OCWUT WM-035601-19 Base Bid: TYPE II PLAIN RIPRAP WITH FILTER BLANKET									
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs				
Brewer Construction Oklahoma LLC	First Offer - \$101.03	3992 / cubic yard	\$403,311.76		Υ				
Product Code: WM-0356		Supplier Product Code	e:						
Agency Notes:		Supplier Notes:							
Cimarron Construction Company, LLC	First Offer - \$115.00	3992 / cubic yard	\$459,080.00		Y				
Product Code: WM-0356		Supplier Product Code	e:						
Agency Notes:		Supplier Notes:							
C-P Integrated Services	First Offer - \$115.00	3992 / cubic yard	\$459,080.00		Υ				
Product Code: WM-0356		Supplier Product Code	e:						
Agency Notes:		Supplier Notes:							
Ellsworth Construction OKC dba Atech Paving	First Offer - \$134.35	3992 / cubic yard	\$536,325.20		Υ				
Product Code: WM-0356		Supplier Product Code	e:						
Agency Notes:		Supplier Notes:							
T.J. Campbell Construction Co.	First Offer - \$140.00	3992 / cubic yard	\$558,880.00		Υ				
Product Code: WM-0356		Supplier Product Code	e:						
Agency Notes:		Supplier Notes:							
Wynn Construction Co., Inc	First Offer - \$150.00	3992 / cubic yard	\$598,800.00		Υ				
Product Code: WM-0356		Supplier Product Code	e:						
Agency Notes:		Supplier Notes:							

OCWUT WM-035601-20 Base Bid: GEOTEXTILE FO	OR RIPRAP STABILIZATION	I			
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs
Cimarron Construction Company, LLC	First Offer - \$2.00	4171 / square yard	\$8,342.00		Υ
Product Code: WM-0356		Supplier Product Code:			
Agency Notes:		Supplier Notes:			
T.J. Campbell Construction Co.	First Offer - \$3.00	4171 / square yard	\$12,513.00		Y
Product Code: WM-0356		Supplier Product Code:			
Agency Notes:		Supplier Notes:			
Wynn Construction Co., Inc	First Offer - \$3.00	4171 / square yard	\$12,513.00		Υ
Product Code: WM-0356		Supplier Product Code:			
Agency Notes:		Supplier Notes:			
Brewer Construction Oklahoma LLC	First Offer - \$3.54	4171 / square yard	\$14,765.34		Y
Product Code: WM-0356		Supplier Product Code:			
Agency Notes:		Supplier Notes:			
C-P Integrated Services	First Offer - \$4.00	4171 / square yard	\$16,684.00		Υ
Product Code: WM-0356		Supplier Product Code:			
Agency Notes:		Supplier Notes:			
Ellsworth Construction OKC dba Atech Paving	First Offer - \$4.05	4171 / square yard	\$16,892.55		Υ
Product Code: WM-0356		Supplier Product Code:			
Agency Notes:		Supplier Notes:			

OCWUT WM-035601-21 Base Bid: STANDARD CABLE FENCE									
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs				
Brewer Construction Oklahoma LLC	First Offer - \$6.44	38247 / linear foot	\$246,310.68		Υ				
Product Code: WM-0356		Supplier Product Code:							
Agency Notes:		Supplier Notes:							
Cimarron Construction Company, LLC	First Offer - \$7.00	38247 / linear foot	\$267,729.00		Υ				
Product Code: WM-0356	Supplier Product Code:								
Agency Notes:		Supplier Notes:							
Wynn Construction Co., Inc	First Offer - \$7.30	38247 / linear foot	\$279,203.10		Y				
Product Code: WM-0356		Supplier Product Code:							
Agency Notes:		Supplier Notes:							
Ellsworth Construction OKC dba Atech Paving	First Offer - \$7.35	38247 / linear foot	\$281,115.45		Υ				
Product Code: WM-0356		Supplier Product Code:							

Agency Notes:		Supplier Notes:		
C-P Integrated Services	First Offer - \$8.50	38247 / linear foot	\$325,099.50	Υ
Product Code: WM-0356		Supplier Product Code:		
Agency Notes:		Supplier Notes:		
T.J. Campbell Construction Co.	First Offer - \$10.00	38247 / linear foot	\$382,470.00	Υ
Product Code: WM-0356		Supplier Product Code:		
Agency Notes:		Supplier Notes:		

OCWUT WM-035601-22 Base Bid: REMOVE CABLE	E FENCE						
Supplier		Unit Price	Qty/Unit	Total Price	Attch.	Docs	
Cimarron Construction Company, LLC	F	First Offer - \$1.00	1453 / linear foot	\$1,453.00		Y	
Product Code: WM-0356			Supplier Product Code:				
Agency Notes:			Supplier Notes:				
Wynn Construction Co., Inc	F	First Offer - \$1.00	1453 / linear foot	\$1,453.00		Y	
Product Code: WM-0356			Supplier Product Code:				
Agency Notes:			Supplier Notes:				
Ellsworth Construction OKC dba Atech Paving	F	First Offer - \$2.95	1453 / linear foot	\$4,286.35		Y	
Product Code: WM-0356			Supplier Product Code:				
Agency Notes:			Supplier Notes:				
C-P Integrated Services	F	First Offer - \$4.25	1453 / linear foot	\$6,175.25		Y	
Product Code: WM-0356			Supplier Product Code:				
Agency Notes:			Supplier Notes:				
Brewer Construction Oklahoma LLC	F	First Offer - \$5.30	1453 / linear foot	\$7,700.90		Y	
Product Code: WM-0356			Supplier Product Code:				
Agency Notes:			Supplier Notes:				
T.J. Campbell Construction Co.	F	First Offer - \$8.00	1453 / linear foot	\$11,624.00		Y	
Product Code: WM-0356			Supplier Product Code:				
Agency Notes:			Supplier Notes:				

OCWUT WM-035601-23 Base Bid: SOLID SLAB SODDING										
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs					
Brewer Construction Oklahoma LLC	First Offer - \$2.74	86659 / square yard	\$237,445.66		Υ					
Product Code: WM-0356		Supplier Product Code:								
Agency Notes:		Supplier Notes:								
Cimarron Construction Company, LLC	First Offer - \$3.00	86659 / square yard	\$259,977.00		Y					
Product Code: WM-0356		Supplier Product Code:								
Agency Notes:		Supplier Notes:								
Wynn Construction Co., Inc	First Offer - \$3.00	86659 / square yard	\$259,977.00		Y					
Product Code: WM-0356		Supplier Product Code:								
Agency Notes:		Supplier Notes:								
C-P Integrated Services	First Offer - \$3.25	86659 / square yard	\$281,641.75		Y					
Product Code: WM-0356		Supplier Product Code:								
Agency Notes:		Supplier Notes:								
T.J. Campbell Construction Co.	First Offer - \$3.75	86659 / square yard	\$324,971.25		Y					
Product Code: WM-0356		Supplier Product Code:								
Agency Notes:		Supplier Notes:								
Ellsworth Construction OKC dba Atech Paving	First Offer - \$3.75	86659 / square yard	\$324,971.25		Y					
Product Code: WM-0356		Supplier Product Code:								
Agency Notes:		Supplier Notes:								

OCWUT WM-035601-24 Base Bid: HYDRAULIC SEEDING										
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs					
Cimarron Construction Company, LLC	First Offer - \$1.00	2005 / square yard	\$2,005.00		Y					
Product Code: WM-0356		Supplier Product Code:								
Agency Notes:		Supplier Notes:								

T.J. Campbell Construction Co.	First Offer - \$1.25	2005 / square yard	\$2,506.25	Υ
Product Code: WM-0356		Supplier Product Code:		
Agency Notes:		Supplier Notes:		
Brewer Construction Oklahoma LLC	First Offer - \$1.45	2005 / square yard	\$2,907.25	Υ
Product Code: WM-0356		Supplier Product Code:		
Agency Notes:		Supplier Notes:		
C-P Integrated Services	First Offer - \$1.50	2005 / square yard	\$3,007.50	Υ
Product Code: WM-0356		Supplier Product Code:		
Agency Notes:		Supplier Notes:		
Wynn Construction Co., Inc	First Offer - \$1.80	2005 / square yard	\$3,609.00	Υ
Product Code: WM-0356		Supplier Product Code:		
Agency Notes:		Supplier Notes:		
Ellsworth Construction OKC dba Atech Paving	First Offer - \$4.40	2005 / square yard	\$8,822.00	Υ
Product Code: WM-0356		Supplier Product Code:		
Agency Notes:		Supplier Notes:		

OCWUT WM-035601-25 Base Bid: SEDIMENT AND EROSION CONTROL						
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs	
Brewer Construction Oklahoma LLC	First Offer - \$38,467.50	1 / lump sum	\$38,467.50		Υ	
Product Code: WM-0356 Agency Notes:		Supplier Product (Supplier Notes:	Code:			
Cimarron Construction Company, LLC	First Offer - \$40,000.00	1 / lump sum	\$40,000.00		Y	
Product Code: WM-0356 Agency Notes:		Supplier Product (Supplier Notes:	Code:			
Wynn Construction Co., Inc	First Offer - \$40,000.00	1 / lump sum	\$40,000.00		Υ	
Product Code: WM-0356 Agency Notes:		Supplier Product (Supplier Notes:	Code:			
Ellsworth Construction OKC dba Atech Paving	First Offer - \$49,500.00	1 / lump sum	\$49,500.00	Υ	Υ	
Product Code: WM-0356 Agency Notes:		Supplier Product (Supplier Notes:	Code:			
C-P Integrated Services	First Offer - \$54,725.00	1 / lump sum	\$54,725.00		Υ	
Product Code: WM-0356 Agency Notes:		Supplier Product (Supplier Notes:	Code:			
T.J. Campbell Construction Co.	First Offer - \$70,000.00	1 / lump sum	\$70,000.00		Υ	
Product Code: WM-0356 Agency Notes:		Supplier Product (Supplier Notes:	Code:			

Supplier Totals

f C-P Integrat	ed Services	\$2,881,524.00 (25/25 items)
Bid Contact	Durinda Fisher dfisher@cpiokc.com Ph 405-732-0532	Address 3007 NW 63rd Street, Ste 205 Oklahoma City, OK 73116
Qualifications	OKC PRE-QUALIFIED CONTRACTORS	
Bid Notes	The bid bond wouldn't upload so I put as a excavation.	n attachment on the first line item under unclassified
Agency Notes		Supplier Notes: Head The bid bond wouldn't upload so I put as an Attch: attachment on the first line item under unclassified excavation.
f Cimarron Co	onstruction Company, LLC	\$3,101,923.00 (25/25 items)
Bid Contact	Don E Noble DNoble@cimarroncco.com	Address 3501 NE. 63rd Street Oklahoma City, OK 73121

Agency Notes:

its Trusts Ph 405-728-1555 Fax 405-728-5026 Qualifications OKC PRE-QUALIFIED CONTRACTORS Bid Bond (Status: This bid bond could not be verified) **Agency Notes: Supplier Notes: Head Attch:** f Brewer Construction Oklahoma LLC \$3,338,363.14 (25/25 items) **Bid Contact Shane Smith** Address 8301 sw 8th shane@brewerok.com oklahoma city, OK 73128 Ph 405-787-4962 Fax 405-495-8972 Qualifications OKC PRE-QUALIFIED CONTRACTORS **Head Attch:** Agency Notes: **Supplier Notes:** W f T.J. Campbell Construction Co. \$3,500,504.50 (25/25 items) Bid Contact **Donnie Dorn** Address PO Box 3788 TJCESTIMATING@TJCAMPBELL.COM **Edmond, OK 73083** Ph 405-672-6768 Fax 405-513-6786 Qualifications OKC PRE-QUALIFIED CONTRACTORS **Supplier Notes: Head Attch:** Agency Notes: f Wynn Construction Co., Inc \$3,615,660.10 (25/25 items) Address 11901 North Eastern Ave. **Bid Contact Rick Thompson** bid@wynnconstruction.com Oklahoma City, OK 73131 Ph 405-753-1120 Qualifications OKC PRE-QUALIFIED CONTRACTORS **Head Attch: Agency Notes: Supplier Notes:** f Ellsworth Construction OKC dba Atech Paving \$3.831.729.21 (25/25 items) **Bid Contact Timothy Lunday** Address **P.O. Box 10765** tlunday@ellsworthinc.com Midwest City, OK 73140 Ph 405-418-4741 Qualifications OKC PRE-QUALIFIED CONTRACTORS **Bid Notes** Bid bond uploaded to last bid item.

vendor upon award of the contract and, as according to the law, all bid/proposal responses received may be available for inspection at that time.

Supplier Notes:

Bid bond uploaded to last bid item.

Head Attch:

^{**}All bids/proposals submitted for the designated project are reflected on this tabulation sheet. However, the listing of the bid/proposal on this tabulation sheet shall not be construed as a comment on the responsiveness of such bid/proposal or as any indication that the agency accepts such bid/proposal as being responsive. The agency will make a determination as to the responsiveness of the vendor responses submitted based upon compliance with all applicable laws, purchasing guidelines and project documents, including but not limited to the project specifications and contract documents. The agency will notify the successful

Bid Committee Bid Tab

THE BID COMMITTEE WILL MEET IN THE CITY CLERK'S CONFERENCE ROOM, 200 N. WALKER 2ND FLOOR, MUNICIPAL BUILDING, AT 10:00 A.M. OR LATER.

Tim Alvarez

Auditor

Bid #24101 - Paycom Center Intercom Upgrade

Tresha Williams

City Clerk

Creation Date **Feb 2, 2023** End Date **Mar 8, 2023 10:00:00 AM CST**

Start Date Feb 8, 2023 7:48:48 AM CST Awarded Date Not Yet Awarded

Ford Audio-Video \$375,444.00 (3/3 items) **Bid Contact Kevin P Ray** Address 4800 W I 40 SERVICE RD rayk@fordav.com **OKLAHOMA CITY, OK 73128** Ph 405-946-9966 Qualifications OKC PRE-QUALIFIED CONTRACTORS **Agency Notes: Supplier Notes:** Item# Line Item **Unit Price** Qty/Unit **Total Price** 24101--01-01 \$43,225.00 \$43,225.00 Paycom Center Intercom Upgrade: Installation - First Offer 1 / each **Product Code:** Supplier Product Code: Supplier Notes: Labor only **Agency Notes:** 24101--01-02 Paycom Center Intercom Upgrade: Paycom Center Intercom Upgrade - First Offer \$332,219.00 1 / each \$332,219.00 **Product Code:** Supplier Product Code: Supplier Notes: Materials only **Agency Notes:** 24101--01-03 Paycom Center Intercom Upgrade: W-9 - First Offer 1 / each **Product Code: Supplier Product Code: Agency Notes:** Supplier Notes: Ford AV Response attached along with W-9 **Lot Total:** \$375,444.00

THE BID COMMITTEE DOES NOT REJECT OR ACCEPT BIDS. The noting or failing to note on the bid tabulation any defect by the Bid Committee is not conclusive of the validity, regularity, completeness or legality of any bid. Questions regarding bid defects or irregularities should be directed to the Municipal Counselor's Office at (405) 297-2451.

Print

Angee Wagner

Public Works

Close

THE BID COMMITTEE WILL MEET IN THE CITY CLERK'S CONFERENCE ROOM, 200 N. WALKER 2ND FLOOR, MUNICIPAL BUILDING, AT 10:00 A.M. OR LATER.

Bid #24601 - Cementious Slurry Stabilized Subgrade (10")

Start Date Feb 22, 2023 7:32:18 AM CST Awarded Date Not Yet Awarded

Oktanoma C	Cement Solutions		\$886	5.00 (5/5 items)
j!	Dan Richwine Addres richwine@sbcglobal.net Ph 214-802-1527	ss 13133 Chinkapi Choctaw, OK 7 3		
Agency Notes	:	Supplier Notes:		
Item #	Line Item	Unit Price	Qty/Unit	Total Price
2460101-01	Delivery: Delivery Days - First Offer		1 / day	
Product Code: Agency Notes		Supplier Product (Supplier Notes: Te		
				Lot Total: \$0.00
Item#	Line Item	Unit Price	Qty/Unit	Total Price
2460102-01	Cost Per Delivered Dry Ton: Cementitious Slurry Stabilized Subgrade - First Offer	\$268.00	1 / ton	\$268.00
Agency Notes	;	Supplier Notes: M	inimum of 10 di	ry tons per load.
Product Code:		Supplier Product (1/ton	\$268.00
Product Code:	:		Code: tons per load.	\$268.00 Lot Total: \$536.00
Product Code:	:	Supplier Product (Supplier Notes:	Code: tons per load.	Lot Total: \$536.00 Total Price
Product Code: Agency Notes Item # 2460103-01	Line Item Cost Per Hour Standby: Cementitious Slurry Stabilized Subgrade - First Offer	Supplier Product (Supplier Notes: Minimum of 10 dry Unit Price \$350.00	Code: tons per load. Qty/Unit 1 / each	Lot Total: \$536.00
Product Code: Agency Notes Item#	Line Item Cost Per Hour Standby: Cementitious Slurry Stabilized Subgrade - First Offer:	Supplier Product (Supplier Notes: Minimum of 10 dry Unit Price	Qty/Unit 1 / each Code: nis does not include a separate cha	Lot Total: \$536.00 Total Price \$350.00 ude material if The slurry load rge on per load
Product Code: Agency Notes Item # 2460103-01 Product Code:	Line Item Cost Per Hour Standby: Cementitious Slurry Stabilized Subgrade - First Offer:	Supplier Product (Supplier Notes: Minimum of 10 dry Unit Price \$350.00 Supplier Product (Supplier Notes: Tr slurry has already by (material) would be	Qty/Unit 1 / each Code: nis does not include peen produced. a separate cha 01-02-01 above	Lot Total: \$536.00 Total Price \$350.00 ude material if The slurry load rge on per load

2460104-01	At	tachments: Bidder's Current W-9 - First Offer		1 / each	
Product Code: Agency Notes:			Supplier Product (Supplier Notes:	Code:	
					Lot Total: \$0.00
		Close Print			
	esha Williams City Clerk	Angee Wagner Public Works		Tim A Aud	<u>llvarez</u> itor

THE BID COMMITTEE DOES NOT REJECT OR ACCEPT BIDS. The noting or failing to note on the bid tabulation any defect by the Bid Committee is not conclusive of the validity, regularity, completeness or legality of any bid. Questions regarding bid defects or irregularities should be directed to the Municipal Counselor's Office at (405) 297-2451.